Assembly Instruction

@ ITEM: 3533RF-30 LIFT TOP CKTL TBL W
4PC CASTERS

PART LIST HARDWARE LIST

1 [BOLT m) [¢1/4"+1" _ |4PCS

4 |LIFT TOP 2 |BOLT ) |@1/4"+5/8" |6PCS
PANEL 3 |SPRING WASHER| O |@1/4" 10PCS

4 |FLAT WASHER $1/4"+16mm [10PCS

B | BOTTOM PANEL 5 |PLASTIC CAP | (D 4PCS
6 |ALLEN KEY |$ |4mm 1PC

¢ |LEG FRAME 7 | CASTER & |1-1/2 4PCS
LSF/RSF 8 |SCREW T |#3%16mn 16PCS

STEP 2

CAUTION!

Do not allow children to play on the mechanized
furniture or operate the mechanism. Top surfaces
fold down on closing,so that a child could
possibly be injured. Always leave furniture in
the closed position when unattended. To prevent
the table from tipping over,do not place more
than 30 pounds on the top when in the open
position.

KEEP HANDS CLEAR OF MECHANISM.

For items use on wooden floor,hard surfaces or carfaces or carpets,it is reccommended
A to Install protective pads under all legs and supports to avoid/prevent from
damages/scratces and discoloration

page 1 of 1




